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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
6% B000Ks BoFETe b
Paper - |
0nE -1

1. Match the following.

List -1 List =1l
(Colour codes) (Methods for
Disposals)
I) Yellow plastic bags 1) Disposal in
secured
land fills
II) Black plastic bags 2) Incineration
and deep
burials
lll) Blue/white plastic  3) Autoclaving and
bags chemical
treatment

IV) Red plastic bags 4) Microwave

treatments and

distruction
I I i v
(A) 4 3 2 1
B) 1 4 3 2
c 2 1 4 3
(D) 3 2 1 4

2. Arrange the following atmospheric layers
in proper order (starting from the Earth's

surface)

(1) Mesosphere (2) Thermosphere
(3) Mesopause (4) Tropopause
(5) Stratosphere (6) Troposphere
(7) Stratopause

(A) 5535157525456

B)6—-4—-7->1-53-55->2
C)4-56-55-53-57-51->2

)
)
)
)
)
)
)
(D) 6>4—->5-7—->1-53->2

3. Coral reefs are mainly distributed globally
in

(A) Temperate water(B) Tropical water

(C) Antarctic water

I#

(D) Arctic water
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(A) 4 3 2 1
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(D) 3 2 1 4
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4. One of the best known matrix methods for
environment impact assessment is

(A) Leopold matrix

(B) Sphere matrix

(C) Saratoga matrix

(D) Component interaction method

5. Protected areas include national parks,
wild life sanctuaries, biosphere reserves,
sacred groves, reserve forests are the
example for

(A) Ex-Situ conservation
(B) In-Situ conservation
(C) Cybenetic conservation
(D) Leibig's conservation

6. Method of delivering Information
Technology (IT) services in which
resources are retrieved from the Internet
through web-based tools and applications,
as opposed to a direct connection to a
server is known as

(A) Wikipedia
(B) LAN
(C) WAN
(D) Cloud Computing

7. Which of the following are correct about
QR code ?

i) It is a two-dimensional (matrix)
machine readable bar code made up
of black and white squares.

ii) It is used for string URLs or other
information that link directly to text,
emails, websites, phone numbers.

iii) It can store up to 7089 digits.

(A) i, ii only
(C) i, ii, i

I#

(D) i, iii only
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8.

b)

d)

VOLTE stands for
(A) Voice over Long-Term Evolution

(B) Voice only Local Telecom
Enterprises

(C) Velocity of Locomotive Telecom
Efficiency

(D) Virtual office Level of Telecome

Enterprises

Match the ICT terminology with their
meanings.

List -1 List -1l
A set of instructions 1) Firewall
written in a computer

language
The software that 2) Cookies
accesses and displays
pages and files on the
web
The practice of blindly 3) Browser

posting commercial
messages or
advertisements to a
large number of unrelated
and uninterested group

A mechanism that
isolates a network

from the rest of the
internet, permitting only
specific traffic to pass in

4) Programme

and out 5) SPAM
Codes :
a b c d
(A) 1 2 3 4
B) 5 4 3 2
) 4 3 5 1
(D) 4 3 2 5

I#
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10.

Note :

11.

12.

13.

14.

15.

I#

Which of the following is not correct about

ICT ?

(A) ICT is a modern teaching aid

(B) Using of ICT in teaching reduces the
physical labour a teacher

(C) ICT is a substitute for a teacher

(D) ICT in teaching facilitates learning

In questions numbered 11, 12 and
13 you can find a series of numbers
or of letters or of both which follow a
pattern. Identifying the pattern you
have to choose one of the options that
fills the blank given in the series.

6, 27, 128, , 3130
(A) 1031 (B) 629

(C) 369 (D) 209

MNPT, JKMQ, GHJN, , ABDH
(A) DEGK (B) DGEK

(C) DEKG (D) DKGE

E1V, D3W, C5X, , A9Z

(A) BOW (B) B8Y

(C) B7Y (D) B6X

In a code if “BILL” is coded as “DKNN” then
the code word for “SENT” in that code is

(A) VGPV
(B) UGPV
(C) UGPU
(D) VGPU

If the word “COME" is coded as “XLNV”
in a code language the word coded as
WZGV initis

(A) GATE
(C) DATE

(B) HATE
(D) DATA

10.

ICT % 502000 8ot 3y 3" SoHA T

D8 ?

(A) ICT 2.5 es¢s 57655568

(B) &'ex8" ICT i esairRotieio 59 e Tryoiod
AT B30 BIHTECD

(D) &°¢558° ICT edadrhoBicio $9 e
OO e HBOOD

Sr0R 111,12, S08akn 13 Soggeon G000 9
BHEDP o8 5EAY Jredod o (008;?5@8’3 ™o, 28
©ESEN 8o & Bocos3d 505 @63 aaﬁogeo&s‘“ooo
& SEA 10900 & @Fe3S’ 7o 98”59 BIOS 3D
331‘,’)13’5“’@68 @6033?6 o) JoE DAIFE.

11.

12.

13.

14.

15.

6, 27, 128, , 3130.

(A) 1031 (B) 629

(C) 369 (D) 209

MNPT, JKMQ, GHJN, , ABDH
(A) DEGK (B) DGEK

(C) DEKG (D) DKGE

E1V, D3W, C5X, , A9Z

(A) BOW (B) BsY

(C) B7Y (D) B6X

o5 §&S° “BILL” 9 “DKNN” i §°& D% s §°&
e08° “SENT” & §°€ ¢so

(A) VGPV

(B) UGPV

(C) UGPU

(D) VGPU

2.8 8% 738 “COME" &3 5202 “XLNV”

§° e90000, &3 §°& o758 WZGV v §8°& e9000%

D¢0

(A) GATE (B) HATE
(C) DATE (D) DATA
A-00-18



16.

17.

18.

19.

I#

One of the following is not a component
of teaching

(A) Consideration of the aims of
education

(B) Knowledge of theories of learning
(C) Knowledge of evaluation
(D) Awareness on politics

Identify the correct sequence of priority in
the system of education

1. Student
Teaching method
Aims of Education
Teacher

o > 0N

Teaching learning material
(A) 1,2,3,4,5 (B) 4,1,2,8,5
(C) 3,1,4,52 (D) 5,4,3,2,1

Which of the following characteristics of
the learner affect learning outcomes ?

i) Prior knowledge

i) Developmental factors

i) Abilities

iv) Learning styles
Ethnicity

iv
v
Skin colour

Vi

N— N N N N

—
>
—_ ~— ~

i, i, v, vi only
(B
(C
(D) i, ii, iii, iv, vi only

I, i, iii, iv only
I, i, iii, iv, v only

Which one of the following does not affect
teaching ?

(A) Subject knowledge of teacher

(B) Physical appearance

(C) Method of teaching

(D) Salary and allowances

16.

17.

18.

19.

5G5S’ o 528

(A) Dorlsaire esd0d
(B) we5508 drpozre grido
(C) 305rergoss ggido

(D) oresdasre BBBa%o0

TGIGTRER g $B5 HEDERTY
Clsletnleter

TR

anRval

K)CT?SE%?SQX?@J

T

57655 o ol

(A) 1,2,8,4,5 (B) 4,1,2,3,5
(C) 3,1,4,5,2 (D) 5,4,3,2, 1

o > 0N =

500 HOT OB (HerdHo Wa B oFETeo
i) s egiso
i) D370 s°Sseen
i) Jsrorges
V) ese350 geven
V) 5650008
Vi) 5850 Sort
(A) i, iii, v, Vi 3E5
(B) i, ii, iii, iv 3550
(C) i, ii, iii, iv, v &30
(D) i, ii, i, iv, Vi S°&5o
8o¢s 3OS T3S 5550 (HerIBo DADA
(A) ool Qe $08rko
(B) 75 S50
(C) &5 3¢
(D) &% gizmgeo
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20. Match the following methods of teaching
with their meaning.

List -1

a) Oral presentation
of information,
principles,concepts,
ideas about a topic

List -1l

1) Brainstorming

b) Sharing experiences, 2) Project
ideas and attitudes
c) Generating as many 3) Lecture

ideas without judging
them

d) A whole-hearted
purposeful activity
proceeding in a
social environment

4) Collaboration

5) Discussion

Codes :
a b c d
(A) 1 2 3 4
(B) 3 5 1 2
(C) 5 4 3 2
(D) 3 4 1 2

Read the following passage and answer the
question Nos. 21 to 25.

Late Dr. A.P.J. Abdul Kalam needs no
introduction for Indians today. On July 25,
2002, Dr. A.P.J. Abdul Kalam was sworn in as
the 11" President of India proving to millions
across the globe yet again that ‘a man is what
he wants to be’. Accepted as the undisputed
father of India’s missile program, Abdul Kalam
became for millions a figure of inspiration, a
person who renewed the trust of the common
man in the value of hard work and justified
the necessity of having a dream for oneself.
The journey of a boat owner’s son, who even
sold newspapers as a child, has become
an epitome of determination and success.
Despite his outstanding achievements,
Kalam had remained a simple person with a
Spartan lifestyle. In fact, after a successful

I#

20. 30¢5 30D T BB TR BBHSTHP.

5635 = | SSCE
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missile launch, he was reluctant to meet the
then Prime Minister Indira Gandhi as he felt
his attire was not right for the occasion. A
regular reader of the Gita, he was also fond
of poetry and had written a fair amount. His
two books ‘Wings of Fire : an autobiography
of A.P.J. Abdul Kalam” and “Ignited Minds :
Unleashing the power within India” have been
the best sellers — a hot favorite among the
youth. A little known facet was his penchant
for playing the Rudra Veena. But what he
loved above all was interacting with students,
inspiring the youth to learn to dream and take
India to the pinnacle of progress.

Kalam’s life was a mission, an affirmation
of what a determined person can achieve
against extraordinary odds. Even until his
late age, he was indefatigable. He dreamt
and taught others to dream of making India
into a technological superpower. In fact he
was a varied personality with an awesome
uniqueness.

21. He was the undisputed father of India’s
missile program means

(A) People had doubts about his calibre

(B) His technical knowledge was
questionable

(C) He was a product of India’s missile
program

(D) He was the pioneer of India’s missile
program

22. Kalam’s life signifies the importance of

(A) Dreams and hard work

(B) Only dreams

(C) Luck

(D) Coincidence

23. Kalam’s father was a
(A) Boat rower
(B) Boat owner

(C) Boat maker

(D) Boat seller

I#

yA
B0 HED FTro EIBo BEY BoD FOR AT
£ 5AoTe. Jofyy &5 26 : &5 eseS a0t e
0E e Sero, FREE ok @SOVR & 598 268
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24.

25.

26.

27.

28.

29.

30.

I#

Kalam’s lifestyle was
(A) Lethargic
(C) Garish

(B) Lavish
(D) Modest

He dreamt and taught others to dream of
making India

(A) Technically superior

(B) Missile oriented

(C) Technologically foremost

(D) Very hardworking

Communication begins when a source
a statement.

(A) Opens
(C) Initiates

(B) Utters
(D) Starts

The response of the receiver that is sent
back to the source forms the

(A) reply (B) feedback
(C) reaction (D) stimulus

connects the source
(e.g. A speaker) and the receiver
(e.g.A listener)
(A) Communication
(B) Channel
(C) Path
(D) Verbal language

is the place or setting in
which a communicative event occurs.

(A) Situation (B) Circumstance
(C) Occurrence (D) Connection

consists of the intention of the
source, or speaker. It is the communicative
aim of the speaker.
(A) Purpose
(C) Orientation

(B) Context
(D) Wish

10

24

25.

26.

27.

28.

29.

30.
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Note : In questions numbered 31 and 32 you

31.

32.

33.

I#

find a pair of words having certain
relation. You have to select one pair
among the four options that have the
same relation as the words in the first

pair.
FOOD : HUNGER :: SLEEP :
(A) REST (B) NIGHT
(C) DREAM (D) WEARINESS

SUMMER : WINTER : :
(A) MONDAY : SATURDAY
(B) TUESDAY : MONDAY
(C) SUNDAY : HOLIDAY

(D) JANUARY : MARCH

The diagram, among the following, which
represents the relation between bus,
scooter and conveyance is

(A)

(C)

(D)

Sk
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31.

32.

33.

yA

: 313500300 32 Soggen Mo EHrd” &8 0R
K02030 Ko BBVTe0 FIRIGT 0D, WO
D00GON® 0TS e3BHTOB FO T
BOINS™D 00D A JoDE DA

e35880 1 €389 11 A -
(A) dEod

(C) 5o

2 300 1 B0 -
(A) Foarso : 3J0°C0
(B) Soonisrso @ oo
(C) sb7C0 : weHBI0
(D) e5:5550 1 570y

(B) @
(D) eoe

09, DI, ITETe oo D005y
BA0D0EE (€08 TAS° $BAS Beo

(A)

(B)

(C)

(D)

goce
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Note: Study the diagram given below where A
denotes youth, [1denotes unemployed
and O denotes educated; and answer
question 34 and 35.

3
5\ 4N

s

34. The region representing uneducated and
unemployed youth is

(A) 5
(C) 6

(B) 4
(D) 7

35. The regions representing educated
unemployed youth are

(A) 3and 6 (B) 7and 5
(C) 5and 6 (D) 4and 5

36. NIRF stands for

(A) National Informational Repository
Fund

(B) National Institute of Rural Folks

(C) National Institutional Ranking
Framework

(D) National Institute of Ranking
Framework

37. Which of the following are true about
‘Pragathi' ?
i) Itis a scholarship initiated by AICTE
meant for Girl students
ii) Amount of scholarship of Rs. 30,000/-
for tution fee or at actual, whichever
is less each year of the course

i) Rs. 2000/- per month for 10 months
as incidentals each year of the
course

(A) ijiionly — (B) i, iii
(C) i, ii, iii

I#

(D) i, iii only

12

D QD00 BID0W A K5 D8 5ok S0
[ 550, 965059505 5780 800D O &7° 585
&2 o0 By 90300, 34 BodoXn 35

éoaaém(‘é& 8% &?mé’);ﬁw&

]
5\ 4

o

34, 5e509B AHE Y aodBte Jrdow EGEo

(A) 5 (B) 4
(C) 6 (D) 7
35. $5e500E AEHT 0XoBHEHs BI00D E0Te0
(A) 3500050 6 (B) 7 S0805» 5
(C) 5 5080 6 (D) 4 5080 5
36. NIRF 50056

(A) D355 355620558 02808 ok

(B) 558 3075 e 66 G,

(C) 58 9037558 Trodoh (o),
(D) 3556 9deargel esp Trodoh (b,

37. '&rd' 8 SowoRod o8 3y T3S D8 $80 9
i) er9%0 §%0 AICTE $%20635 e55°0 Do
i) (S D05¥50 ICEDE D &G Lo
280D TS oo S 30,000/~ o8 OB
B0 DD O
i) (58 D050 TSI D eRkTIS SO Do
T B 0 . 2000/- esidoeross oo
oo

(A) i, ii 5755

(C) i, i, iii (D) i, iii 5o
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38. Which one of the following is not a
component of National Knowledge
Commission (2006-2009) Report.

(A) Access to knowledge
(B) Knowledge concepts
(€)
)

(D) Borrowing of knowledge

Delivery of services

39. The minimum score of CGPA aggragate
score (quantitative and qualitative) in each
criterion for an institution to obtain NAAC

Accreditation is
(A) 1.50
(C) 2.01

(B) 1.51

(D) 2.51

40. Match the following with regard to the
location of the institutes.
List -1

a) Hyderabad

List -1l

1) National Brain
Research Centre

b) Dona Paula 2) University of
Petroleum and

Energy studies

c) Manesar 3) National Institute

of Nutrition

d) Dehradun 4) National Institute

of Oceanography

5) National Institute
of Design

Codes

a c d
(A) 3 1 5
(B) 8 1 2 4
(C) 3 1 2
(D) 3 5 2

I#

13

V4
38. 8D o7 Hovo (2006-2009) JRAEE grio
08

(A) e Fonid
(B
(C
(D) egmdy ety BunEweo

)

) g0 eriaden
)

)

050 2Tl

39. &8 Jorg oy NAAC 805 Zrocsedd

TRORSOVS SEOEN CGPA Toé’)o%} Nead @0
(S05TEFBS, W0eTBY)

(A) 1.50
(C) 2.01

(B) 1.51
(D) 2.51

40. 206 305 doeo T3 (VRO SN N RO

Bes—1 s =1l
a) reoerd 1) S @5 sy
200636
b) &% o 2) QBTIHeS ek
25000 esols P
RAS
C) Xoxdd 3) 55 gRpereSed
Sorge 350
d) atsrsS 4) maaggwéeﬁ s
2SS 0H
5) B8 3000 e
RS
gﬁ&a .
a b c d
(A) 3 2 1 5
(B) 3 1 2 4
(C) 3 4 1 2
(D) 3 4 5 2
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The following Pie-chart shows the percentage
distribution of the expenditure incurred in
publishing a book. Study the Pie-chart and
answer the question from 41 to 45 based on it.

Printing
Cost 209%,

Binding 20% | Paper Cost 25%

41. If for a certain quantity of books, the
publisher has to pay Rs. 30,600 as printing
cost, then what will be amount of royalty
to be paid for these books ?

(A) Rs. 19,450 (B) Rs. 21,200
(C) Rs. 22,950 (D) Rs. 26,150

42. What is the central angle of the sector to
the expenditure incurred on Royalty ?

(A) 15° (B) 24°
(C) 54° (D) 48°

43. If 5500 copies are published and the
transportation cost on them amounts to
Rs. 82,500, then what should be the selling
price of the Book so that the publisher can
earn a profit of 25% ?

(A) Rs. 187.50 (B) Rs. 191.50
(C) Rs. 175 (D) Rs. 180

44. The price of the Book is marked 20%
above the cost price. If the marked price of
the book is Rs.180, then what is the cost
of the paper used in a single copy of the

book ?
(A) Rs. 36 (B) Rs. 37.50
(C) Rs. 42 (D) Rs. 44. 25

I#

38 YO 0D 2520 LEDS ) ERDO0DOLDE. &0
PN H0LIOHODD FTT°O DeTesiso DOCLBR0E NS
S0k Derdy eEsolbso B 41 $ooé 45 S8 Mo
EFOE DA MOQOL0KD.

Printing
Cost 209

Binding 20% | Paper Cost 25%

41. 25 DB Hopgd DT BHEBoN[O 8l
©00e2 58 Erien 30,600 9o Hoogden e
202 €3 HT0 P DYoL T JoBYHTHR ?

(A) Rs. 19,450 (B) Rs. 21,200
(C) Rs. 22,950 (D) Rs. 26,150
42. oY DYoHES @0 PLind KIdow DY

Pocio A, Sogso Eeso Jod 9
(A) 15° (B) 24°
(C) 54° (D) 48°

43. 25555500 S0 500 Ted STreTE @0
i) &7 82,500, @900 B8 55 25% g0
20Q0NE"AS8 €5 HEo 58 Jodoowd ?

(A) Rs. 187.50 (B) Rs. 191.50
(C) Rs. 175 (D) Rs. 180

44. 50 oY), OB Do Tof'es Do p 20%
OFO 08, af Y & HVFo S0 O o
S7ies 180, e 083 Hisso Ay, e 52 S5

E00PAODD SPNBO LY JoB ?
(A) Rs. 36 (B) Rs. 37.50
(C) Rs. 42 (D) Rs. 44. 25
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45. Royalty on the book is less than the
printing cost by
(A) 5% (B) 33 Y %

(C) 20% (D) 25%

46. A distribution that is abnormally tall and

peaked is said to be
(A) Leptokurtic
(C) Platykurtic

(B) Pyrokurtic
(D) Mesokurtic

47.
design are

(A) Nominal

(B) Ordinal

(C) Both continuous and discrete
(D) Both interval and ratio

48.

as
(A) Convergent validity
(B) Predictive validity
(C) Internal validity

)

(D) External validity

49. A researcher wants to know whether
students attendance is randomly distributed
throughout the academic year. The type

of statistical test she should use is
(A) t-test

(B) The Co-efficient of determination
(C)

(D) Chi-square test

Binomial test

50.
qualitative research is

(A) Random
(C) Purposive

(B) Convenient
(D) Cluster

Variables in a cross-sectional research

The extent to which the findings of a
research study are generalizable is called

The sampling technique generally used in

45.

46.

47.

48.

49.

50.

yA

BoolESET i) Hodd o P 5)@03 Trabd) 7o
o8 B35 9

(A) 5%
(C) 20%

(B) 33%%
(D) 25%

2& DeTesdo STrERSEo e 500 éodd
&l

(A) &0 550
(C) S0 5505

(B) e 5590
(D) 06550 S50

DNOOZB BOFFE HBTTED BT
(A) T2 ©D

(B) &5 aruy

(C) 5%, 26¥ Bo>

(D) eos50, QY Do

2.8 508%E @65053?6 POz ﬁ?’c?cje‘g%o{ﬁz@ﬁ
INleIaN) 90780,

(A) 99388 JEEIresd
(B) ayDsi5g SEsrend
(C) ©0838 Jd3rerd
(D) e SEETess

a8 DOFEoooes af TGOS BT 500
& oo ety aXrEydsont dareiso
DA0DAST ? & AT BeooS TS
& VBT GHT 00 EBATACBBORD Troggs DED,
&%o.

(A) t-255,
(C) 555 52,

(B) dzos roesso
(D) 350 255,
NoeTE,s 5887558 ForSeron EHABIACD
FBBATS DOFED
(A) oSFesyns (B) eikosro

(C) &gigros (D) S0t

I#
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